%1 3,5x16mm




A L111-SZF2D/21/27 58-970-- 2/18

A B1 B2 | C1|C2|C3 D
1 L110-3006 827 | 535 15 4/7
2 L110-1001 A | 2100 | 551 15 27
3 L110-1002 A | 2100 | 580 15 217
4 L110-1003 A | 2099 | 535 18 317
5 L110-3001 827 | 480 | 22 117
6 L110-3002 979 | 480 | 22 117
7 L110-3004 827 | 535 15 4/7
8 L110-3005 979 | 535 15 4/7
9 L110-3007 979 | 535 15 4/7
10 L111-7031 A | 1364 | 300 15 5/7
11 L110-9301 A | 2028 | 837 | 2,5 217
12 L110-9302 A | 2028 | 987 | 2,5 317
13 L111-7001 A | 1364 | 512 15 6/7
14 L111-7002 A | 1364 | 726 15 5/7
15 L111-7003 A | 1364 | 512 15 6/7
16 L111-7035 A 350 | 160 18 5/7
17 L93-4051 827 | 51 15 117
18 L93-4052 979 | 51 15 117
19 dr-821 821 30 15 4/7
20 dr-975 975 | 30 15 4/7
21 w136\5 2050 | 37 717
22 w136\9 2050 | 16 717
23 w249\1 2668 | 51 717
24 w250\1 2664 | 32 717

cm
o 1 2 3 4 5 6 7 8 9 10

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




A L111-SZF2D/21/27 58-970-- ‘ 3/18

12x % 24x 18x @@@ 12x 2X O 36@ 2X (@ 3x M 20):¢®
d28||ses0smm €5 ||ossaomn €90 |pez0mm €51 s113| |05 22012 mm 715_F90)| |M6x20 mm j196) k75\4 k1
6x 3X e|[16x . |{dx 36X 3X 12x 10x 10x
n218 w180\ ||o7x50 mm et N76 | |psiemn P38 |ossiomm p140 6778 37| | o120 mm s S| wass o j84 j140 M4x10 mm j106

0 3)/[5 1% GX/:% 29x 3x @ 4x

Sp‘2050‘1 2 5mm Z1 7 E\éj/{// 23.5x15 mm p51 @25M10x13 mm k75\2 90x50\1,5 mm N 1 48

>

N
(o2
N

P28-L111-SZF2D_21_27-M_IN16-A-KOR03



L111-SZF2D/21/27 58-970-- 4/18

/\/\ 1 7

k1

f73

8x 4nmn‘3

@3.5x15 mm p51

X g
26.3x10 mm e51
12x

6,7/7,8 r37

73 r37

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




L111-SZF2D/21/27

58-970--

r37

r37

r7 K1

2X

[ |

=P — n 2 6 7

X @
23.5x15 mm p51

4x % 4x
d28

26.3x10 mm e51

2X
<&® k1

12)@@

r37

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




L111-SZF2D/21/27 58-970-- ‘ 6/18

k1

k754
k75\2

R oW
220x12 mm #16 r36 ﬂ7x5m e1 |825/M10x13 mm k75\2 k1 m5\4

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




A L111-SZF2D/21/27 58-970-- ‘ 718

2X k1

\ /?(7 5\ K1
k1
k75\2

k1

k75\4

k75\2

4x4%@ \f@ ‘GX@ 1XM
K oo €1 o KI5\ |, 136 K75\4

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




8/18

A L111-SZF2D/21/27 58-970--
5 ==
: s G e N
\ 5 163 | ¥ 163 ' \;\
” av a0l | S ies 163
N \ - & @ : d28 #
| - || d20 ; . '
8 & . . 1] Il _
a ﬂ\\\\\ e50
5 d20 Y
137 d20 d20
E ” 36 37
@ E 36 r37' /y [$5¢]
| ﬁ 36 " r36 \
y/ l
63 ’ 6 e 6 4x
| 163 &~ 137 oy 2 20 maxw?%(@;m &is




58-970--

A L111-SZF2D/21/27 ‘ 9/18

I:I

= 163 ICC%

163

163 @ 163

r37
[Pr37

e50

d20

© %

163

(¢

wn €50

2X

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




A L111-SZF2D/21/27

58-970--

10 /18

r37
r37

® |

[®
®)

s Gz

163 & 163

163

e50

N

ey
SN

O/ x

10

dz28 (6

e50

> @
26,3x10 mm
P28-L111-SZF2 27-M_IN16-A-KOR03

2X
M INTo A




A L111-SZF2D/21/27 58-970-- 11 /18

11

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




58-970--

>
©
Q
ab‘rb

p38

p51

10x

10x
o

ZX&

M4x5 mm j84 s113
O @@ | = | N
T T <" " el [5 n14l\

P28-L111-SZF2D_21_27-M_IN16-A-KOR03



L111-SZF2D/21/27 58-970-- 13 /18

13

3X

w136\5 n218

sp-2050-12mm
w136\9

/ﬁ\ % w136\9

GXQ

n218

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




A L111-SZF2D/21/27 58-970--

e5

I3

n240

14 15

7, p140 n241)]
Y

n76

) p140 p140 3 '\’\ e5
@ s BN Py
" 140 “k N\ p140
7 P 16 n76 \

140 NN
n76 1,N76 .

7 J ¥ p140
w136\9 _ e N\

w180\1
8x 2X

/;76 soxsosmm N148

1x 12x

w180\ | |oeaxiamm €5

p140 @

(12x)

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




L111-SZF2D/21/27 58-970--

15/18

16 &\ 4\

T
i
.: L/\




A L111-SZF2D/21/27

18

n238
140
T\T\L? p140
76
n p140
8x (13) p140
w136\5
n76
p140
. 0140 p140 p140 69 o5
/j%H(/ <::> n7eé 0140 p140 <§g%%
n76
p140 n76 p140 77
n76 16
p140 {%
136\5 17
p140
p140
p140
- ¥ p140
y\\
4XO 8x
soxsout smm N 148 %;76
w180\1 2X 12x
w180\ ||06.3:13 mm e5

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




L111-SZF2D/21/27 58-970-- 17 /18

19

=S .

CLICK!




L111-SZF2D/21/27

58-970--

18 /18

20

1=
@)
g
©)
?/441 ST
\\\\\\r_L7 —\

- ® |

s41

1%

Selllc

s1

s41

2699

827

979

827

2105

414

1494

56

P28-L111-SZF2D_21_27-M_IN16-A-KOR03




